MCQV2L %5

A

it i £H T SV BR &L

mindman

TR
m GG
RAEMES  BRMREE S SEE -
m A e IALE
RBGL BRSO S - ROmACAREET - 57 ELiH S - fitfbls: -
m ISO 15552 FEHER#4
LS B 1SO 15552 BUKBIME - KL BZIFT HATE i -

m ZhAbs

SRR R IR R - P -
Hikg
TSR McaQvaL
- SHELPIEE (mm) 63 80
R: it B R
{5 PR J A 0.15~1 MPa
@?ﬁ/—‘ (m ﬂﬁ@ﬁ 1.5 MPa
’:““ﬁ_*ﬁ% _ el —5~+60°C ( FUEH )
RELALL {712 (mm) A 3 A 50~500 mm/sec
263,80 45186,745158?268,226(1)50’ 175,200, 250, 300, 350, xEval Max. 2710 N | Max. 3690 N
* IR PR TA R > AR AR - el 3 (Ll
s RCA ( ZEflliH2 8-8 H )
Sl / B THEACAR P E Sz | Hv3
MCQV2L— 11 —63 — T00M — R ZZEfiifE s vcav o mier
| 7 T 1 FAC — MCQV — 63
g 1: ¥ RIS M: T | B
Hs FEINE
T2 mEmras RRES
{EBA, AR A Rt I 8 (e T
R S ] o] [ - ﬂﬂﬁ’ B
—
A WBSMF (R i) I (= cB ﬂ'j]]}m TC
111 x 8 CDB
o Y
I | mm st G T" | carson) U=
= 1= FAC (I [ pm= I
*Re ~ NPT FRIJRAIKSL » 1558 A S -
o= FBC O[T | v, ump )
}ﬁfﬁ | ETHEFRHE  + i MCQV SR * JMBURSTREZ MCQV2
[= =X
PIN—MCQV —63—Y—P UL -
-~ HAREER | HREE (R | (762 25 mm
oL MCQV2L-11 MCQV2L-11 MCQV2L-11
LRI A B
e RAIRE g — P | et
CB-P CA & CB B HA -
Y-P 9 | va& g 983 I==r
v-s | [LAD |vemmam 080 R
P ATALIE , S IFHIE R H

AW mindman




MCQV2L 5BR o63, 080

it i £H T SV BR &L

mindman

oP
N o)
G- -t e
O ©
- e
Q
[ 2-DD
r‘f:ﬁﬂ S
@ i @ E B ‘ I
K@\ O e — % 777777777777777777777777 o2l
N
o T — ~
B2 - R N L]
0o | M K
OX c B+ 172
A ZB+ {712 J
z+1if2
_H | g
—/
I 1 L 2-DD ’_ﬁji‘_q
I | o o
yZ ! N B1
©® @ e -
, © C ‘
- /A\ Il 11 1 ,@ A ,,@ ,,,,,,,, Slr
& JREEES 0 ) Bk
N —
V
© @ IS
; 48
B2 N R L
0o | K M
oX c B+ 172
A ZB+ {712 J
z+ 1k
% |a|B|B1|B2|Cc|DD| E |G |H|I K|(L|{m|[N|O|P|P1|P2[P3|Q|R
63 32 |149| 16 | 24 | 37 [G3/8| M16x1.5 | 20 | 45 |26 4 (33 (16 (61 (44 |[56.5(40 (14 |24 (12 |24 | 8
80 40 [168| 21 [ 30 | 46 |G3/8| M20x1.5 | 25 | 45 (32.5| 4 (35.5|20.5|75.5(60.5|72 | 50 [ 12 | 16 [ 14 | 26 | 10
i ABE T x|z|zB
63 |[M8x1.25| M6x1.0 | 8 | 78 [222|186
80 |M10x1.5| M6x1.0 | 9 | 95 | 258|214

M mindman




	1_規格
	4_外觀尺寸φ63, φ80

